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CH&k 2| 7| Ner22 (3) | A7
RFID/USNE F47]7 1,300,000 2F
HAX|AME F47(7](10 GHz) 1,500,000 P
=MAXMME F47]7((5.8 GHz) 1,500,000 2F
uws X 8& O/ 7[7|(UWB) 1,500,000 2F
OSF™MAZE F4717] 1,000,000 2
SYS3LE FMHH[Q 7|7|(0l&=) 1,450,000 3F
SYS3LE FMHH[Q 7|7|(7|X|=) 2,000,000 3F
SYS3SLE FHHH|Q T|7|(BAHEK]) 2,000,000 3F
XNsd nEAAHE FHHH| 1,300,000 2
5G NR O|S&418 FEMMH|9| 7|7|(3.5 GHz CH)(Z|X|=) 2,500,000 3T
5G NR O|&5&418 FMMH|Q| 7]7|(3.5 GHz CHE)(EAEX]) | 3,000,000 3F
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- 20| 49| UHHMRAE 2= 7|7|(HE O : AC, DC, POE & SEH AHE7(7))
- 28 FOOiG0] 20]42 7|7|(F& of : THOC|E OO0 7| 7))
- AEH = TN SHIMHI|IZ7[((HE o - AV, MEEAEV]7])
- 20[¢e| MutEAE A= 717|("E of - MOoMEE 4= 717])
- 20| o SAHAS = 717|("E o . F4HLANS| OFDM, DSSS &)
- 20[¢9| &4 2HEE A= 77[(HE o : FHLAN T OHs SAEE 4
= 89
- 20|dol HXIE 2= 717((HE o : DEQE T3] JFLHEX], DFEXK]
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- 20|49 &, ASHILIE #&= 7[71(HE o - SHASA )
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4. BIL7HKM(VA)= =

5. AIE7IZt2 712 12E 7|F0|0,
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